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1 R0 calculation

Below, we present a derivation of the expression for R0 of the main model, following the method presented
in [1]. The procedure for the Ross–MacDonald model is completely analogous.

We denote by X∗
m the population of vector mosquitoes in the absence of infection, as in the main

text, and write down the matrices F and V , used to build the next generation matrix K:
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
The value of R0 will be given by the largest non-negative eigenvalue of the next generation matrix,

which in this case is the same as the spectral radius ρ of the matrix K, as follow:
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